1. Economics IV
2. General Equilibrium: Pure Exchange Economies
Section 1: Explain why the following statements are true or false

3. If an allocation can be improved upon in a Pareto sense, then it cannot be Pareto efficient.

4. Consider two allocations of goods in an exchange economy, A and B.  If A is Pareto superior to B, then A is Pareto efficient.

5. In a pure exchange (no production) economy, given an endowment point, any price (rate of exchange) will produce a competitive equilibrium.

6. Consider two allocations of goods in an exchange economy, A and B.  If A is Pareto efficient and B is not Pareto efficient, then A must be Pareto superior to B.

a. In a pure exchange (no production) economy, there is a competitive equilibrium that corresponds to any endowment point.

Section 2: Solve the following

1. Adrian and Rocio are stranded on a desert island.  Each has in his/her possession some slices of ham (H) and cheeses (C).  Adrian is a very choosy (difficult) eater and will only eat ham and cheese in the fixed proportions: 2 slices of cheese to 1 slice of ham.  His utility function is given by UA=min{H,C/2}.  Rocio is more flexible in her dietary tastes and has a utility function given by UR=4H+3C.  Total endowment is 100 slices of ham and 200 slices of cheese.

b. Draw the Edgeworth Box diagram that represents the possibilities for exchange in this situation.  What is the only rate of exchange ratio (price line) that can exist in equilibrium?  Explain your answer.

c. Suppose Adrian initially has 40H and 80C.  What would the equilibrium position be for the two individuals?

d. Suppose Adrian initially has 60H and 80C.  What are the possible final equilibrium positions for Adrian and Rocio?  Explain your answer.

2. Suppose two individuals, Ruben and Daniel, are shipwrecked and stranded on a desert island.  The island has no other plant or animal life on it and there is no way to produce and consumption goods.  The only goods they can share are cans of tunafish and bottles of water.  Suppose that their respective utility levels depend on their consumption levels of these two goods according to:

a. 
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b. Express the demand functions of Ruben and Daniel for tunafish cans and water bottles, in terms of the prices of each of these goods, and the initial endowments that Ruben and Daniel have.

c. Now assume that there are 100 units of each of these goods, and that each individual has 50 units of each good as his original endowment.  Using the fact that total demand for each good must be 100 in the equilibrium, calculate the price ratio (PT/PW) in the equilibrium.  Also calculate how many tunafish cans and water bottles each of the individuals will consume.
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